PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016
26th July 2016, 03:00 PM

Topic:- General and Logical Knowledge
1)

Question Stimulus :-

The National Heritage Animal in India is / HIRd Bl ?T@'q ?R:]_ER U] %
* Asiatic Lion / TRYRITS TR
® Royal Bengal Tiger / MTd I SR
e Asiatic Elephant / TS BTt
® River Dolphin / &I & SIAB
Correct Answer :-Asiatic Elephant / TRmTg 310
2)
Question Stimulus :-

Which of t.he following is known as the “"Energy .Capital" of Madhya Pradesh? /
Frafafaa d @ 5 9 wex & "Sul AU F FU H ST S 82

® Balaghat / 9TciTdlC
* Indore / 2R
® Singrauli / RRte

® Jabalpur / SIdcYR
Correct Answer :-Singrauli / RITRIel

3)
Question Stimulus :-

Who wrote the ‘Arthashastra’?/ ‘3 ?I'EZ'I'I'\W" mﬁ' ferar?
® Kautilya / Pifeey
® Bindusara/ ﬁ@'\‘l’l’\"

® Chandragupta I / =%l 1

()



® Ashoka / 3T2N®

Correct Answer :-Kautilya / Piced

4)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / d& e gﬁﬂ,\_rﬁ qb DI T
IR UFAFIITAAE:

If you are wearing spectacles then you are having eye sight. /uﬁ&rrcramuﬁ%%'?ﬁ
STIP! 3 WRIT 2

e If you are not wearing spectacles, then you are having eye sight. / afe 3T T=LAT T8l
TEId ©, STUPT 3 W14 7

e If you are not wearing spectacles, then you are not having eye sight. / afe 3ma =I=HT

T3 ugd g, oY U i @WRIE T8l 2

e If you are not having eye sight, then you are not wearing spectacles. / gf& Ml

3T WIS &1 €, 1 3T I=AT ) Ug-d gl

e If you are having eye sight, then you are not wearing spectacles. / af¢ 3Tu®! 3
WRI9 T, 1 3ATY IHT 8] Ug-d g

Correct Answer :-If you are not having eye sight, then you are not wearing

spectacles. / afe MUt H@WH‘@%’,H}[WWH@W%I

5)

Question Stimulus :-

If R is the brother of Q and P is the aunt of R, we may say that Q is the of P. / ?T% R, Q &I Q-I'Ig %
T4 P, R P Al 8, §9 $ WPd ¢ [ Q, P &1 2

® nephew / YT

® niece / Yefieit

® uncle / I

® cannot be determined / THI&fYa w8 fopam ST Hepar

Correct Answer :-cannot be determined / fIiYa T8 fpar ST Fowar

6)

Question Stimulus :-

©)



How many times ‘E’ exceeds ‘N’ in the word 'IMPERTINENCE’? / 'IMPERTINENCE’ Rcg |
B fpaq 9 N 3t 82

.« 1

° 2

e 3

e 4
Correct Answer :-1
7)

Question Stimulus :-

In the following question, there is certain relationship between the first two terms. Choose the fourth term from the
following options which has a similar kind of relation with the third term. / g uy ﬁ:, usﬁ a T-l'ca & = feht
TR § $Is Ja¢ g] o faeat & F <dtar ue g~ e i ug & a1y 3 uerR @1 99y 3]

House : Wall :: Wall : ? / H®PIA : daR ;: daR ;2
® Cement / e
® Sand / ¥d
® Roof / Bd

® Brick / g?

Correct Answer :=Brick / 3¢

8)
Question Stimulus :-

Kanhan is the right bank tributary of / TGl E.'TCIT dc Helddh T'Ia %
® Tapti river / ATt T'I?ﬁ G|
® Ken river /#I' H'a aﬁ
® Narmada/ T'Iﬁ_c',T 7'|T:;Ff 4|
® River Wainganga / CEUD| qiﬁ 3l

Correct Answer :-River Wainganga / I St Bt

9)
(4)



Question Stimulus :-

A farmer grows 4 crops— A, B, C and D, not necessarily every crop in every year. A is grown between the months Jan-
May, B between April - July, C between June —October and D between September-January. Each crop takes 3 months

from sowing to harvesting. At a time only crop can be grown./wwmqﬁqﬁm%- A, B,C 3R D,'a'
TR=1 el D1 5 e 9 X TS ST A SG3] -HS & e & IS oirdll 8, B 38d - [ars |, ¢ 7 -3Fgar
aﬁmgmwﬂ-aﬂaﬂﬁl TS B gaTs d Hers g4 A 3 71 Adl 8 1 TP IR | R T waa S o
bl gl

If the farmer wants to harvest C in the month of October when is the latest he can sow A so that he can have B in
between? / Tf¢ fHaT Sragar F AR A ¢ BUa & Hels ST ITadT ¢, Al 98 H AdI-dH A B gars H
Topdl & o a3 s oft fra g

® February/ AR

® January/ SHaRT

® March /'Fl'l?f

® December / fedaR
Correct Answer :-fFebruary / BRa31
10)

Question Stimulus :-

Directions: On the shelf are placed six volumes side by side labeled A,B,C,D,E and F.
Three volumes C, B and E have blue covers while the rest have red covers. D and F are
new volumes while the rest are old volumes. A, C and D are law reports while the rest

are gazetteers. / fFE2r {5} e W B8 WAl FI A,B,C,D,E 3R F ¥ 3ifpd o3 T gk & U @1
4T 81 590 9§ 9 UY ¢, B 3R E W el 3R § Siafer A9 W a1 a0 81 D 3R F 98 UY g,
Sgfe AY R &1 A, C iR D A & fyarur €, w9 & A faa=fore 3

Which is the red covered new law report volume? /398 & DI AT AT SATEROT BT =T DI
Y §?

e B

e A

e D

e C
Correct Answer :-A
11)

Question Stimulus :-

(®)



If nuclear weapon means hallucinations, and it’s hallucinating, then it’'s not nuclear

weapon. / af¢ TRATY FRIUR T Aqad AfdYH g, 3R I8 Afayd g, 9 98 WA gRAR 781 31
* True / 'x‘l‘zﬁ
* False / Teid
e Maybe / B I&HdT 8
e Irrelevant / 3VRIR®
Correct Answer :-Maybe / 8 I&dl &
12)

Question Stimulus :-

The cricket ball is lighter than the hockey ball and volley ball is lighter than the
football. Hockey ball is lighter than the football but heavier than the tennis ball. Wthh

of the following is the heaviest? / fopdpe Ft e gt & g | gool gidl § IUT ?ﬂ?ﬂiﬂﬁ T
Wﬁ?ﬁ%lmﬂﬁﬁzwﬁaaﬁﬁ?ﬁ%w%ﬁvaﬁﬁaﬁmﬁﬁ?ﬂ%lﬁaﬁﬁﬁ-—rmﬁ
3fie Wt &2

e Hockey ball / gl®! I T

e Cricket ball / fopdre 3t Tig

e Volley ball /afeiara

* Foot ball/gﬁ‘cﬁ'ﬂ

Correct Answer :-Foot ball / Heaid

13)
Question Stimulus :-

The Financial year of Government in Indiais ./ HRd A IRPR @1 foxiiyg ad . %I
® January to December / SaRI-fedaR
® September to August / RrdeR-er~a
® February to January / HRA! - ast
® April to March / 3 AT

Correct Answer :-April to March / 3{Ud -HTg

14)
(6)



Question Stimulus :-

Which of the following Hindi writers born in Madhya Pradesh was also a scholar of Jainism? / H& Q%QT o ﬁirr

U B A fEd dae S ¥ fage 82
 Makhanlal Chaturvedi / ATRG-TaTd ggdat
¢ Nathuram Premi / JT}RH e
® Ramkumar Verma / YTHPHR gt
® Gajanan Muktibodh / TTSIT- m‘u

Correct Answer :-Nathuram Premi / FTJRW U

15)

Question Stimulus :-

Who is the CEO and MD of ICICI Bank? / TSI TSNS T3NS 9 b AIS 31 Td TAS! B &2
Arundati Bhattacharya / e Yfa ‘1-@1?IT&

Chanda Kochhar / ?-IET aﬁ?r\r
® Rakesh Sharma / TP AT
® NK Chari/T% T8}

Correct Answer :-Chanda Kochhar / 9T ®IR

16)
Question Stimulus :-

The Satyashodaksamaj was founded by / TR YS THTS fpad gRT [T fHar
e JyotibaPhule / SAIfaal $A
® SavitribhaiPhule / %rri%‘:ﬁﬂ-ng‘ g»‘é
® Raja Ram Mohan Roy / XTSIT ITH Higq g
* A.O Hume /T 3if ga9

Correct Answer :-JyotibaPhule / SfaaT Hat

17)
Question Stimulus :-

(7)



The “Marble Rocks” are found in / "HTHRHAR P TS UTY SITd & =

® Jabalpur / STdAYR
® Hyderabad /%ETITSITQ'
® Jaipur / SIOYR
® Udaipur / 3¢dUR
Correct Answer :-Jabalpur / STICTYR

18)
Question Stimulus :-

is called the city of seven islands. / CIK: iG] ?ﬁ'lﬁ DhT [eX BHel SITdl %l

Mumbai / Hﬂi
Mangalore / IR

Nagpur / FITYR
Madurai / ug%

Correct Answer :-Mumbai / §a%

19)
Question Stimulus :-

1. In a family of six persons, there are people from three generations. Each person has
separate profession and also they like different colours. There are two couples in the

family. / 1. : 90 & TP URER # @1 dF Gfedl & §1 33 T ST Iaam 3T § 3R 37 3T 31 0¥ 3
CHRECIRE: R U GRS

2. Rohan is a CA and his wife neither is a doctor nor likes green colour. / 2. ﬁ?’f‘\cﬁ'cﬁ
AWPR & 3R IUP! Ul 7 Sigex @ 7 34 & 3 u4e 2|

3. Engineer likes red colour and his wife is a teacher. / 3. 3T S AT T WG § R ITD! TaAt
e 1

4. Mohini is mother-in-law of Sunitha and she likes orange colour. / 4. ﬁ'\ﬁ:ﬁm Ol I
3R I AR 1 g §

5. Vinod is grandfather of Tanamy and Tanmay, who is a principal, likes black colour. / 5.

faie 9799 & <reT § SfR 999y S YYHTEH §, P S1aT I Ude gl

6. Nanu, granddaughter of Mohini and she likes blue colour. / 6. Hifgdt I AT AR, T a1 7
q¥g gl

(8)



7. Nanu’s mother likes white colour. / 7. 9 ®1 AT I Wb¢ W TS |

Which colour is liked by CA? / 97d! AEMPR &1 I AT T TS 8?2
e Green /&l
* White / 9ibg
e Either white or Green / '\‘TW 3R 33{ 73 Udh
e Can’t be determined / fAieiva =gY far w1 gar
Correct Answer :-Green / 831
20)

Question Stimulus :-

Who succeeded Rajiv Gandhi as the Prime Minister of India? / IS i & WM R YR S UUTHAT DI
CE R

® Dr. Manmohan Singh / Bl. 'FFfFﬁ_b'TI ﬁ'-l_ta'
® Lal Bahadur Shastri / ATd §8TgY XMl
® Jawaharlal Nehru / mﬁﬁ
 V.P. Singh / dl. . Rig

Correct Answer :-V.P. Singh / dl. 4. Rig

21)
Question Stimulus :-

Which one of the following groups of Articles of the Constitution of India grants the right to equality? / YR

TfAE & el & 19 Gl #§ ¥ $IF AT TP AT BT PR T HdT 82
* Articles 16 to 20 / 355G 16 ¥ 20
® Articles 15 to 19/@3@?{15@19
® Articles 14 to 18 / 339G 14 T 18
® Articles 13 to 17 / 3556 13 9 17

Correct Answer :-Articles 14 to 18 / 3T 14 T 18

©)



22)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / d& faweu gﬁm,\‘:ﬁ qd Bl G
AT RIEA ST :

If we go by plane, then we will reach the place on time. /ﬂﬁsﬁﬁ'ﬂﬁﬁ'ﬁlﬁr%’, ql 80 =
TR AT A UgR B

e If we don’t go by plane, then we will reach the place on time. /gfe gv foum= 9 =181
wTd &, 91 89 RIF IR 99T | UgTd 71

e If we don’t go by plane, then we won’t reach the place on time. /df¢ g9 fau= 4 81
ST g, 91 39 T9Y 9§ RIM W e ugad 7

e If we haven't reached the place on time, then we haven’t come by plane. /Hﬁ'%‘q

Y R M R T8l Ugdd &, df 89 o= & =8t oma €1
* None of the above / mﬁéﬂﬁl

Correct Answer :-If we haven’t reached the place on time, then we haven’t come by

plane. / afe 89 THY R WM R 71 Ugdd &, di 89 fau= 4 781 e €1

23)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fowe ﬂ'ﬁ'l'{
it 3T T wy=Y ud el & 9 § 98 2

Statements: / BY:

Some jokes are games. / P9 HVlP T gl

Some games are clocks. / $S Wd Uiedr gl
Conclusions: / fFrep:

I. Some jokes are clocks. / I. ©9 HUlD ‘El%“q‘f%l

II. No clock is a joke. / II. aﬁé ‘ﬂé’ﬂﬁlﬁﬁ T-I?’f%l
® Only conclusion I follows / W ﬁ'ﬁaﬁ'ﬁf I ﬁ'ﬂ?ﬂ %
® Only conclusion II follows / W freey 11 IECASGI %
* Either conclusion I or conclusion II follows / T df fore®d 1 a1 fibx frewd 11 fRrepetar %
® Neither conclusion I nor conclusion II follows / = dI frshd I faar % Gﬁ'\' G 'bp[ frrep 11

(10)



Correct Answer :-Either conclusion I or conclusion IT follows / 9T G| ﬁ'mﬂf Iqr fﬁ)_\" ﬁW& II ﬁﬁv_vﬁn

g

24)
Question Stimulus :-
The two Houses of the Parliament should be summoned / §9gG & T:ﬂ:ﬁ' "\‘Ta'-"ﬁ' P dad forar ST aﬂ%’q :
® Twice a year /a4 | & R
® Thrice a year /a8 A IR
® Four times a year / T4 H IR R
® Once a year /atfﬁwm
Correct Answer :-Twice a year /Y H g IR
25)

Question Stimulus :-

If the figure on left is folded to form a cube, then which of the following options is the face opposite to the face shown

at the right? / Tfe It 3R W 3BT I ¥4 O I T & o€ wics fparwmar g, A FE e 4 9
F A fawen § was orfl oiR feur T was & fawdia &2

T T 1 B
T T T $ % %
T T T LI
T T 1 L€, 0. ¢
T T T
o 1

Correct Answer :-

26)
(11)



Question Stimulus :-

Who decides whether a bill is money bill or not? / I8 P11 fAuia war 8 fo Rdus, v= fadas & a1 782

® The Speaker of Lok Sabha / AP YT & eTe

® The President / Tl'gqﬁf

® The Finance Minister / fa=T w3t

® Rajya Sabha / TS YT
Correct Answer :-The Speaker of Lok Sabha / AP YT F 3fege
27)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fowea qﬁnz
it fRE 7T $YAT vd eyl & i # 98 21

Statements: / 9Y:
All shirts are pants / T ¢ UaqA &

No pant is black. / I3 Udqd el el &
Conclusions: / fAsmd:

I. No shirts are black / 1. H’ﬁ'st e ﬁ?ﬁqﬁ %
II. Some pants are shirts / II. $© Uded T §

® Only conclusion | follows / Had freed 1 Froaar %

® Only conclusion Il follows /'aﬁlﬁ forsm o) Froaar %

® Both conclusion | and Il follows /?.‘a:ﬁ foreed 1 Gﬁ'\" I1 ﬁﬁv_c‘la %

® None of the conclusion | or Il follows / forepd 1 a7 11 ® 3 ﬂﬁg 7'|€|' IGEASGI %
Correct Answer :-Only conclusion | follows / Fqd frepd I fAeadr %
28)

Question Stimulus :-

Who is the first Indian cricketer to score a century on his World Cup debut?/ ﬁ%{ HUH T tl%?r T ¥ IdP

AT a1 9T YR fpde farst a1 82
e Anil Kumble/ 3(f<1d $aa

(12)



e C.K.Nayudu/ W Aargg

e Virat Kohli/ faRTE ®igei

e Syed Mushtaq Ali/ T0¢ YRATH 3l
Correct Answer :-Virat Kohli/ foRTe ®igelt
29)

Question Stimulus :-

Who went to Natal in 1893 to serve a merchant? / 1893 H IHe Th HTURT $ Ja1 & 1%113 eTd DI T
Yr?

® Jawaharlal Nehru / mﬁﬁﬁ

® Mahatma Gandhi / HeTHI B}

® Vallabhbhai Patel / GEAHHTS Ucd

® Dhirubhai Ambani / %ﬁvlns‘ gt
Correct Answer :-Mahatma Gandhi / H&IHT TR
30)

Question Stimulus :-

In the following question arrange the given words in a meaningful sequence and then
choose the most appropriate sequence from among the alternatives provided below: /
FaffEd uy & e arde w9 & vl 3 aawn #3339 91¢ A9 i v e 3 @ 9w Suge
3HH BT TIT D

1. Travel 2. Destination 3. Payment 4. Berth 5.Reservation 6. Availability of berth / seat
for reservation

1. MR 2. T 3. YAH 4. ¢ 5. ARV 6. IREUT & forg 94 / Hie BT Iuarsuar
* 1,2,54,3,6
* 2,6,3,54,1
e 5,3,4,1,6,2
* 6,2,54,3,1
Correct Answer :-2,6,3,5,4,1

31)

(13)



Question Stimulus :-

A blacksmith has five iron articles A,B,C,D and E each having a different weight. / T® TER
¥ U A,B,C,D 3R E UlH &% U® 3@ YRG! dlg 19U o

1. A weighs twiceas much as B. / 1. A STUR B ﬁaﬁ'{Fﬂ%I

2. B weighs 4 and a half times as much as C. /2. B T UR C 4 3R &IT‘r‘.ITIET%I
3. Cweighs halffas muchas D / 3. D T C BT YR 1T %l

4. D weighs half as much as E. / 4. E A D BT ‘J-I'ITGIT%IT%I

5. E weighs less than A but more than C. / 5. E T HR A § 9 WR C ¥ ST g1

Which of the following represents the descending order of weights of the articles? / IBEK:]
| DI T PH GG & YR BT S1Gdl HH YHe Bl 82

e ABED,C
e B,D,EA,C
e EC,D,AB
e C,A,D,B,E
Correct Answer :-A,B,E,D,C

32)
Question Stimulus :-

In the following question, four words are given, out of which three are same in certain
way and the remaining one is different. Find out the different one. / 719 44 T, 9R I o
T g, o d | i foell upR T TuE § ofiR Tt T 31T 8| SISRT a1l [Td S|

* Quick / A9

e Small / Bl

* Long / 9l

e Broad / iﬁGT
Correct Answer :-Quick / a9
33)

Question Stimulus :-

(14)



Select the option, which is the logical equivalent of the statement given below: / dg fawea ﬂ&lﬂﬁﬁ adb Bt Eﬁ'
AR RTINS TS :

It is not true that both Rosy and Lily are working for a manufacturing company. / g

T 81 g fo 3T Teit SR forell T Scuted »uHt & ford &rd &< W&t 21

®* Rosy is working for a manufacturing company and Lily is not working for a
manufacturing company. /ﬁ?ﬁwmﬂ?ﬁ%ﬁl’aﬁﬁfﬁ?ﬁéaﬂ?ﬁ?ﬁ@m
S F o BT T8 R W 7

® Rosy is working for a manufacturing company or Lily is not working for a

manufacturing company. / 351 TP IATET HUAT & o B B I 8 1 ferell o Scure Hu-t
P ford ot 8t B T B

®* Rosy is not working for a manufacturing company or Lily is not working for a
manufacturing company. / 5l TH AT HU-1 & ol St 78Y #= I8 & a1 ferelt vap Iaure
U & o wrd T8 B2 3 B

¢ Rosy is not working for a manufacturing company and Lily is not working for a

manufacturing company. /ﬁ@ﬁﬁ?ﬁ%ﬁﬁﬁﬂfﬂﬁﬁ?ﬁ%ﬁ?ﬁﬁﬁ@m
S F o B T8 R W R

Correct Answer :-Rosy is not working for a manufacturing company or Lily is not
working for a manufacturing company. / 35l T SdTe HUT & ford Hrd T8 H2 I8! © T fereil
TP ST DUl & ford Bl 181 oY 381 2l

34)
Question Stimulus :-

Which region is famous for Bauxite, Copper and Dolomite in Madhya Pradesh? / CaE k)| aauw mﬁ TSI"IJ?\‘:I'I?;E',

dfer 3R SietATse & frg uRres 82

e Balaghat / STCTdTC

® Jawad / Sldlq

® Bhairongarh / BRI

® Satna/ Hd-Il
Correct Answer :-Balaghat / dTdTdlc
35)

Question Stimulus :-

Which of the following awards are given only to coaches? / Ffadd e IRIDPR Fad sl oI fear Srar %?

® Arjuna Award / Mﬂqw
(15)



® Dhyan Chand Award / WW

® Dronacharya Award / LG YRIPIR

® Rajiv Gandhi Khel Ratna Award / ITSi19 Tt W Id RIBR
Correct Answer :-Dronacharya Award / STOTRTA REPR
36)

Question Stimulus :-

ngor portion of river Mahanadi lies in the state of / WgMd! Al T U@ UNT {67 =
o

° Orissa/B@'ﬂT
® Madhya Pradesh / AT W=T
 Chhattisgarh / SEIIG

® Jharkhand / SIRGS

Correct Answer :-Chhattisgarh / SIGIE

37)

Question Stimulus :-

How many symbols are immediate]y preceded by a letter and followed by a number in the
following sequence? / ¥ 3r%H #, fFaq ¥ Wil & PP i Ted Te 31eR 3T §, dfp diw v
TS HST ATl &2

4G&fr&6%5RAH6CKMS$8&5uB9l:APL/56 /7*#9(9&J7hR*S3K785P9?

Correct Answer :-3

38)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / 38 fawey gHT
st T 7T Byl wd Frepsl & v & 9E B
(16)



Statements: / PY:

Some animals are birds / $© SHaT Uef &
All creatures are birds / ¥ yroft veft €
Conclusions: / fAewd:

I. All animals are birds / I. W 9Fax ueh &

II. Some birds are creatures / I1I. $9 el uoft %
® Only conclusion | follows / Had ey 1 Aeadr %
® Only conclusion Il follows / Had ﬁ"ﬁﬂf 1 fFreeaan %
® Both conclusion | and Il follows /Eﬁ:ﬁ frwpy 1 3T 11 e %
® None of the conclusion | or Il follows / ﬁf&?lﬂf 191 II | '\ﬁ aﬁz-,‘ =|€f Freear %
Correct Answer :-None of the conclusion I or Il follows / =56 d I a1 IT & 4 ﬁs‘ o1 Headar %’

39)
Question Stimulus :-

When was Singrauli district created? / RITRICH ford &1 o9 I9191 T[T Y12
® 21 Nov 2013 /21 -Id&IX 2013
® 12 Dec 2009/12 ﬁ'ﬂﬂ? 2009
® 24 May 2008 / 24 FS 2008
® 21March 2007/ 21 9T 2007

Correct Answer :-24 May 2008 / 24 ¥ 2008

40)
Question Stimulus :-

‘Book’ is related to ‘Author’ in the same way as ‘Food’ is related to? / &P’ Tl e | SN PR 9§ @

® Guest / arferfy

® Container / UTA

° Cook/m

(17)



® Butter / HRAA

Correct Answer :-Cook / IHISAI

Topic:- Mental Ability and Mental Aptitude
1)

Question Stimulus :-

How many different eleven letter words can be formed using the letters of the word ‘ENGINEERING’ if repetition is not
allowed? / af¢ TRIgfQ 3Ifra 7TEt 8, 9 ‘ENGINEERING’ RTeg & 31&RT BT WA B TIRE &R & fpa
s 2reg 91 Iwa @2

® 693000

® 93600

® 277200

® 138600
Correct Answer :-277200
2)
Question Stimulus :-

I brought a cycle for Rs. 375 & sold it one month later at a loss of 12%.How much did | lose? / i Udh

AT3pd 375 =T W TIS! 3R U WEIH 91¢ A oY AT 12% Pt g1+ U 39 &t | g3t fopat a1i+ g8
* Rs.55/ 30U 55
* Rs.35/%UT 35
* Rs.45/%UT 45
* Rs.25/%UY 25

Correct Answer :-Rs.45/%UU 45

3)
Question Stimulus :-

A bag contains 5 black and 6 white balls; two balls are drawn at random.. What i_s ;he
probability that the balls drawn are white? / T® S # 5 BTl 3R 6 FPbg WS 8; & Wl &I
sfrafia a8 | Rerar sar €1 a1 JuaHT € &1 fead! Tt A ReTed s

e 3/11

(18)



e 4/11

e 6/11

e 10/11
Correct Answer :-3/11
4)

Question Stimulus :-

If the code for VECTOR is WFDUPS then what will be the code for ORGAN? / Tf¢ VECTOR & ol @18 wrpups g o

ORGAN & ol &1 B BIm?

® DFUWP
® TRGAN
® PSHBO
® PHSOB
Correct Answer :-PSHBO
5)
Question Stimulus :-

CANCELLED

A man travels 240 km by train at 60 km/hr, 800 km by ship at 40 km per hour, 1500 km by
air at 250 km per hr. what is his average speed for the whole journey?/ T% 3TGHT 2‘4 gRI 60
et/ de 31 wfa & 240 [t ot g8, TFt F STE gRT 40 [ ufa 9 ot 7fa F 800 fvwht 1 g, 7o
wTgTe gIRT 250 faredt ufe 6 &t 7fa & 1500 fFh 91 g& au wwar 31 o8 amn F fw S9t siwa i @

8?2
* 160 km/hr / 160 TorH1/deT
e 162km / hr/ 162 fopHi/Eer
e 164 km/hr / 164 fopHl/geT
e 166 km/hr / 166 T /EeT

Correct Answer :-166 km/hr / 166 foeHI/geT

6)
Question Stimulus :-

(19)



Complete the series choosing the missing number: / g IWAT B SGal B TR BT :

3,6,18,72,
* 144
® 216
® 288
* 360
Correct Answer :-360
7)
Question Stimulus :-

Complete the series choosing the missing number: / AW J&IT TAHR GAT BT T PIOT :

165,195,255,285,345,
® 375
* 420
® 435
* 390

Correct Answer :-375

8)
Question Stimulus :-

If ‘BATCH is coded as ABSDG, how will FORSAKE be coded as? / Tf¢ ‘BATCH’ I ABSDG W Diied fpdT SITdT §, ot
FORSAKE I & Sifed SITAN?

® GQPTZLT

® EPQTZLD

® EQPZLTD

® GPQTZLT
Correct Answer :=-EPQTZLD
9)

(20)



Question Stimulus :-
In a certain code language, salt pan owners means deje jede deej, owners of house means
eedje deej jeed, club house member means jeed doje jode. Which is the word for eedje in
that code language? / &t WRT FIe HIWT A, salt pan owners FT HAAY § deje jede deej,
owners of house &T Hddd & eedje deej jeed, club house member o1 Hddd g jeed doje jode|
I Bls YT H eedje & forw =T Tsg 82

® salt

® pan

® |house

[ ] of
Correct Answer :-of
10)
Question Stimulus :-

1P46 X 2165 =42130Q0

Where P and Q are representing different numerals; find the value of Q. / 1P46 X 2165 = 42130Q0 GF@'T P Gﬁ'\’ Q
faftrs Ierier §; 99 q @1 9= @)

e 9
e 4
e 2
e 1
Correct Answer :-9

11)
Question Stimulus :-

If 22 and 66 are proportional to x and 12, find the value of x? / If¢ 22 3R 66, x AM12F

STUTa® &, a1 x T 7 FHoriag?

(21)



e 4
Correct Answer :-4
12)

Question Stimulus :-

In the sequence shown below, which figure comes next? / <9 Q@R & HH ¥ [Tl 3MH
P At gift?

Correct Answer :-

13)

(22)



Question Stimulus :-

Complete the series choosing the missing letter/s: / TITET 3(&R FABY 4GQT DI [T BT : abb _baa_a_ bab
_ab

® abba

® abab

® abaa

® aabb
Correct Answer :-abba
14)

Question Stimulus :-

A manufacturer increased the price of a product because of which there was a shortfall of 20% in the quantity sold. If
the sales turnover increased by 20% due to this change. What was the increased in price?/ Tdh 3Sllqdh G| Up d¥]
Pt DAd I gel foar foraed srRur 3=t T 9 & 20% o HH g T | afe 57 ufvada #t 9o @ ga
It 20% ¢ | 9t 99 g8 PrHa fea-n f2

® 25%

® 40%

* 30%

® 50%
Correct Answer :-50%
15)

Question Stimulus :-

In a certain code language, new age school means kom fedal fena, old age company means
sena fena zena, top business school means kom pom dom. Which is the word for fedal in
that code language? / <t @ wis yw 'ﬁ, new age school &1 Hddd 8 kom fedal fena, old

age company &1 Hddd % sena fena zena, top business school &1 Hddd % kom pom dom | It
FIS U ¥ fedal & forT T 31eg B2

® school
® new

® old

(23)



® company

Correct Answer :-new

16)

Question Stimulus :-

In the following qpestipn, one term in the number series is wrong. Find out the wrong
term. / 9 Uy ¥, G©I 491 A TP US TAd & TAd U T BIOA|

5,10,18,26,37

e 5

e 26

e 18

e 37
Correct Answer :-18
17)

Question Stimulus :-

CANCELLED

A and B can do a piece of work in 20 days and 12 days respectively. A started the work alone then after 5 days,
‘B’ joined him till the completion of the work. How long did the work last? / A 3R B foelt w1 &) HA=E: 20

el 3R 21 feri & &~ TP €1 A A BT B 3P = a1 iR = 5 fAl 918, B’ F10 Waw g
q% I9P AT A 81 T4 S foa- fe gan

21 1
3 = 3 =

« S8 days/ ffea
_ 5 _ &
a — 3 —

« 8 days/ 8 faa
;7 ;7

« S days/ ® fa=
_3 3
5= i =

. gdays/ gﬁ?

(24)



3

o | e
L
o | L

Correct Answer :- days /

18)

Question Stimulus :
A bag contains 7 black and 5 white balls. One ball is drawn at random. What is the probability that the ball drawn is
black? / T T # 7 PTeRt 3R 5 Wb 115 8; 1 Vg @1 arfvrafira a8 A Frerer sirar &1 a1 ST & F
fepeit Predt 1i¢ frrepret! SITET?

e 7/12

e 5/12

e 1/2

e 1/4
Correct Answer :-7/12
19)
Question Stimulus :-

The average of 9 numbers is 20.5. If the average of first 5 numbers is 22 and the
average of last 5 numbers is 18, then what is the middle humber common to both first

and last? / 9 T@a &7 3N9d 20.5 B| afe usel ura =il H1 3i9d 22 § 3R sifaw 5 Td=msi
DT 3fId 18 B, O UYH 3MR 3 Ft JTHTA AT BT T 82
e 15
* 15,5
° 145
° 16
Correct Answer :-15.5
20)
Question Stimulus :-

CANCELLED

[2

Reduce to single fraction. / Pl THd (T § aYPd Biorg

LJJ|r—l-
| s
Lt

(25)



Ell"h

2
Correct Answer :-

o]

21)
Question Stimulus :-
58x2)/4+(66/3)x2-(30/10)x4=?
* 54
® 53
® 50
* 61

Correct Answer :-61

22)
Question Stimulus :-

The series given below contains a sequence of alphabets and numbers. Identify the

incorrect combination: / 1A & S g@ar &Y T IBATSM BT SIHH WA B3l §| A Fare
T |

(i) AD1LOMZNTTU

(ii) ADILOMZNTTU

(iii) ADILOMZNTTU

(iv) ADILOMZNTTU
o i

(26)



Correct Answer :-iv

23)
Question Stimulus :-

Excluding stoppages, the speed of a bus is 50 km/ hr and including stoppages, the speed of bus is 45 km / hr. For how
many minutes does the bus top per hour?/ §H mﬁ TP 99 @ T 50 fpeft/der g eiv aaft {cly |
frares a9 ot 71fa 45 feel/der 31 ufa o2 o 9 fram fme & o) sodl 32

e 10min/ 10 BFTE

e 8 min/ 8 fi=e

®* 6 min/ 6 e

® 5min/ 5 e
Correct Answer :-6 min/ 6 e
24)

Question Stimulus :-

Complete the series choosing the missing letter/s: / faqW &R ISR 4GaAT Bt [T PIOT : aaa
_ab _ _aaa

® aaab

® aabb

® abab

® baaa
Correct Answer :-aaab
25)
Question Stimulus :-

Rajeshwari lost Rs. 3,430 by selling her scooter for Rs. 18,570. What is her cost price? / ?'I@f’dﬁ P YT
THeR 18,570 TUT H 99+ WR 3,430 TUT BT JHATH §3ITI ITP Tpex &I A Jod 1 82

(27)



® Rs.24,000 /34U 24,000

® Rs.22,000 /34T 22,000

® Rs.21,000 /4T 21,000

® Rs.20,000/%4T 20,000
Correct Answer :-Rs.22,000 / ¥U€ 22,000
26)

Question Stimulus :-
In a certain code language, listen to music means listo meg sunim, come to Pune means
mombo meg pono, I like music means kono misto listo. Which is the word for sunim in
that code language? / T3 W IS UMW H, listen to music &1 AGAd § listo meg sunim, come
to Pune &1 Hddd % mombo meg pono, I like music 1 Hddd % kono misto listo | I BIE HIET
¥ sunim & T =1 315 82

® rmusic

®  mombo

® Jisten

® Jike
Correct Answer :-listen
27)
Question Stimulus :-

In the following q_uesti_on, one term in the number series is wrong. Find out the wrong
term. / 9 U4 ¥, @ 491 § TP US TAd & TAd UG I BIOA|

5,10,19,26,37

* 5

e 26

e 37

e 19
Correct Answer :-19
28)

(28)



Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY the same as the one given

below? / 79 33 T IR vai & ¥ R o T 1@ & St 99 = S 91 v T8l 82

Adirondack Rock & River Guide Service, Inc.
P.O. Box 219
Keene, New York 12942

(518) 576-2041

(i) Adirondack Rock & River Guide Service, Inc.
P.O. Box 219
Keene, New York 12942

(518) 576-2041

(ii) Adironduck Rock & River Guide Serivce, Inc.
P.O. Box 219
Keene, New York 12942

(518) 576-2041

(iii) Adirondack Rock & River Guide Service, Inc.
P.O. Box 219
Keene, New York 12942

(518) 576-2041

(iv) Adirondack Rock & River Guide Service, Inc.
P.O. Box 219
Keene, New York 12942

(518) 576-2041

(29)



Correct Answer :-ii

29)
Question Stimulus :-

If x is 110% of y, what percent of x is y?/qﬁ X, Yy Bl 110% %, @ Y, X DI fopa=m ufa=e %?

1

e 90 1%

2
® 90i1%

® 90%

E
* 90tl%

i0
Correct Answer :-9011y%

30)
Question Stimulus :-

The square of 53 is / 53 &I 'd'lf%
e 2809
e 2800

e 2806

e None of these / 370 ¥ ®I5 8!

Correct Answer :-2809

Topic:- Science and Simple Arithmetic
1)

Question Stimulus :-
Answer the questions based on the following graph / =12 f3€ T IT% & YR W Ul &1 IR S|

Income and Expenditure from year 1999 to 2005 /?ﬂf 1999 ¥ 2005 I 3N 3R I

(30)



(in Rs.000) /000 & H

160 138
140 a5 130
120 +—  4pe 110 0 JI0 00—

- 55
100 |90 - - 50

o

K

g0 - [0
60 : —
40 - " =
20 : —

1333 2000 2001 2002 2003 2004 2005

O Income [ Expenditure

The average income in (Rs.thousands) per year for the years 1999 to 2005 was nearest

to/ 1999 ¥ 2005 TF P quI & forg ufey oy Sf¥a Mg (B9R gl #) 599 A fHud gad &9 A2
e 118
e 110
* 115
e 108
Correct Answer :-115
2)
Question Stimulus :-

The perimeter of a rectangle with length ‘I’ and width ‘b’ is /T ATId Rraet ng @ 3R Eﬁ@'l'st
‘b T, SHPT URHTY 3

® 2(1+b)
® 12%(1+b)
® |*p
® 1+b
Correct Answer :=2(1+b)

3)

(31)



Question Stimulus :-

A lighted matchstick can burn a piece of paper but not a piece of wood. This is due to the fact that / Th el 3%

ATRRT SIS & ThS B Al YPbdl & AP AP P IHS DI 81| I8 39 I P BRI gl & P

® The ignition temperature of paper is higher than that of wood / PRI BT Usdd-d-diu
AES! I goT A SMfAP BiaT g

® The ignition temperature of wood is higher than that of paper / AP Sl BT Ysad--d1q
PRI & 3w glar @

® The ignition temperature of wood is lower than that of paper / m Bl Ysde-1-d T PIRTST T HH Eﬁ’cﬂ %

® The ignition temperature of both wood & paper are equal /ﬁﬁf 3R BT 'QﬁTl'T Pl Ysdel-T-diq drTdR

BT 8

Correct Answer :-The ignition temperature of wood is higher than that of paper / Fﬁ@

BT USad--dId PR I AP gar @

4)
Question Stimulus :-

Answer the questions based on the following graph /= 2T T ITF & YR WR U BT SR
gl
Income and Expenditure from year 1999 to 2005 / d¥ 1999 ¥ 2005 dF 3T 3R &Y

(in Rs.000) foo0 &1 H

10
140 1
120 _41_95_11_0_11_0—
100 20
g0 70 73 =D -
60 - 3L : : —
40 i —

o
)
-

E:

1553 2000 2001 2002 2003 2004 2005

O Income [ Expenditure

The expenditure as a percentage of income is the least for the year VALl a4 H Y A &
Ufaed & U W G99 HH a7 82

e 1999

(32)



e 2003
e 2000
° Bothaandb/aéﬁ'\fb?ﬁﬁ

Correct Answer :-1999

5)
Question Stimulus :-
A, B, C hire a meadow for Rs. 1095. If A puts in 10 cows for 20 days, B 30 cows for 8 days and C 16 cows for 9 days, then
the rent paid by Cis: / A,B,C 9 1095 3Udl # gd fovra W foan afe A = 10 TR ZOQ:ﬁa?ﬁTQ, B
30 T 8 el & fow wd ¢ 7 16 M 9 e & v W R, ot ¢ g1 YA fawar e fosvma @

® Rs.320

® Rs. 270

® Rs. 450

® Rs.285

Correct Answer :-Rs. 270

6)
Question Stimulus :-

The water holding capacity is the highest in, /?Iaﬂ'-iﬁ? old YIRUT &HdT s'ﬂ'ef S=IdH ﬁ?ﬁ % -
* sandy soil / Hﬂ%‘ Hal
® clayey soil / HUHY Hl

® Joamy soil /m Hal
* mixture of sand and loam / I 3MX GIAC &7 fayor

Correct Answer :-clayey soil / JUHI Hdl

7)
Question Stimulus :-

The ways and means to remove weeds from the field is by / WYY Al iﬁﬁ' I [+ P BT ARIDT 3 FIYA %

® Remove the weeds manually. / WRUJAIR @I Wﬂﬁl’ﬂ YUITeT GRT @) gl

(33)



® Remove the weeds after you notice flowers and fruits on them. / WRUddIR &) a9 geld Sq 317 I Pd
IR wal B H|

® Aseed drill is used to uproot seeds from the field before the crop is sowed in. / 8-33[ A pHa TR 9 Tlgﬁ ?33[
T 59 dIel A S after gRT gerd|

® Uprooting weeds or cutting them close to the ground. / WRUdTAY G| ) I SISl 9T Ydd & e a9
BIcHT

Correct Answer :-Aseed drill is used to uproot seeds from the field before the crop is sowed in. / a_?l' A Bad

T4 T Uge &F ¥ sHS Aol & S aft grRT gerdl

8)
Question Stimulus :-
Keshav took a loan for 6 years at the rate of 5% pa. S.l. If the total interest paid was Rs. 1,230, the principal was: /
319 6 IuT P fore ufaad 5% F G T YR S W Ful AT 21 afe YIIar 3t T $a sar 3t
T 1230 FUT f, 99 AU U

® Rs.4,920

® Rs. 5,000

® Rs. 5,100

® Rs. 4,100

Correct Answer :-Rs. 4,100

9)
Question Stimulus :-

Organisms which prepare food for themselves using simple naturally available raw materials are referred to as /Fﬂﬁ

il TR WP U | SUaey Sl Tl $T SUGNT B UAT Hie Wd g1 2, 3= bed ¢ -
® Heterotrophs / TRUIYd
e Autotrophs / TUIY
® Saprotrophs / AU
* Parasites / GRGilal

Correct Answer :-Autotrophs / U

10)

Question Stimulus :-
(34)



Which of the following pairs of angles are complementary? / ﬁl’H H 9 B4 | SN BT 'QTFT P %’-’
e 350 g5°
e 39°9,51°
® 45°135°
* 36° 144°
Correct Answer :-39° 51°
11)

Question Stimulus :-

Sport shoes worn by players tend to have spikes so as / fE@ISTl §RT UeH T T & dl A SId
§Id § arfes

® To decrease friction & help to move faster / a9 $9 '6:f Tq e ot B A Herdadl Y
® To increase friction & help to move faster/‘EI'EfUT 3w 'apf QH Tfd o A A Herddl Y
® To decrease mass & help to move faster / STHIT HH 'S-T QTII fd as & | Helddl B

* To reduce gravity & make feel lighter / TF@IHYY FH Tl Td TohT HETH DY

Correct Answer :-To increase friction & help to move faster /’EI'EfUT 3w €3f Td Tt af A A Yerddl
Gy

12)
Question Stimulus :-

Ramesh was admitted in hospital for ‘food poisoning'. What does it mean? / JURT Pt U fquTeT & SR
SATA & Yl {paT 1| SHDT T AT g2

* He consumed poisoned food / 39 faura ¥e= Ugur fpar Ut

® Disease caused due to improper washing of vegetables /W%ﬂ'!ﬁ Cal Glﬂﬁl?l' FY Y 16 H34 I T gl
Ur

® Consumption of spoilt food that contain microbial toxin / &RTd YioF & @ 9§ o9 ﬁTITUJﬁ ICLIES
gerd =mfre &

® Excess pesticide was used to raise the vegetables /W%;I’Cﬁ P I H Srafved tﬂwrszﬂ BT STANT
fomam T

Correct Answer :-Consumption of spoilt food that contain microbial toxin / TRTd Yo & @q 9 forad
UL faure gerd =mfia &
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13)
Question Stimulus :-

Which of the following statements is true if 0 < 8 < 90°? / If¢ 0 < 6 < 90°, df fFuferfaa & 4
P 9T HYT I 82

® Sin(A+B)=sin A +sinB
® The value of sin 6 decreases as 0 increases / S9-9d 0 dedl %, sin@ hT HTH Ycdl SITdl %|
¢ The value of cos 0 decreases as 0 increases / S-S 9 dadl %, €0s0 DT HI- Icdl SIldl %l

® Sin © = cos 0 for all values of 8 / 8 & I A & ol Sin 8 = cos ©

Correct Answer :-The value of cos 0 decreases as 0 increases / Sa-uiy 0 dadl %, cosO &I
U gedl ST 8

14)
Question Stimulus :-

The smallest number that 72 must be multiplied with to get a perfect square is / I BIct =T

%, N o anedl ol A & g 72 @ un SR ey R

* 3

° 4

Correct Answer :-2

15)
Question Stimulus :-

(Ing 4 QJ[.\IUE 3 2:)[_10,% nlil )

ot | L

(36)



e 2
Correct Answer :-1

16)

Question Stimulus :-

Workers, who do the Sorter’s job in the wool industry, sometimes suffer from Sorter’s disease. This is because

they get infected by a bacterium called/?&"_"ﬂ mﬁamﬁﬁﬁ@?ﬂwW%aﬂ?ﬂ H
AR A ¥ Wifsa ga €1 gg sl gar 8 ®ifE 3 ve shary & wweita g 8 R oed @

® Anthrax bacillus anthrasis / t},m CIR R le

® Myobacterium tuberculosis. / I CET R Wﬁ:ﬁql

e Salmonella typi. / TIeHAdT egUll

e Tetanus clostridium tetani. / 3¢ FAIRCISTH <l
Correct Answer :-Anthrax bacillus anthrasis /QQQ?\‘I’ CIRSE QQIT&I'\:I'I

17)
Question Stimulus :-

Which among the following can produce sound waves of pure note (single frequency)? / fad g ®= U Ty

(THd AR BT @l 981 STfed B bl 82
* Tuning fork / @iF fgys
* Piano / fimE!
* Violin / dmfe=
* Guitar / feR
Correct Answer :-Tuning fork / WRT fgy=

18)
Question Stimulus :-

The absorption of nutrients and exchange of respiratory gases between blood and tissues takes place in, /thW daal

DT AGNYUT TUT I T Hadd| & 91 4T Ja ot AG] BT 3Mer—-Uer 90 8idT ¢ -
° Veins/ﬁ'RT\’rﬁﬁ
o Capillaries/méﬁﬁ

(37)



® Arteries /ﬂﬂﬁ'ﬁﬁ

° Heart/EE'Cl'ﬁ:

Correct Answer :=Capillaries / piwra o

19)
Question Stimulus :-

Answer the questions based on the following graph /T-ﬂ%[ ﬁ:q MY Ut P SMTYR TR UYl PT W
Sl
Income and Expenditure from year 1999 to 2005 /d¥ 1999 & 2005 TF 3 3T Y

{(in Rs.000) /o0 &I #

160
140 135180 29
120 +—3ps— 110 110
100 120
g0 || [0
60 - & n
40 : -
20 4 < - |

o

K

75 B0

1553 2000 2001 2002 2003 2004 2003

O Income [ Expenditure

For the given period 1999 to 2005, the total savings as percentage of total income is

nearest to /1999 ¥ 2005 TF I St T3 3raf¥y H Ho M T fha=T Ul T Taa F TIQ FIT &2
o 27
* 36
o 40
° 4
Correct Answer :-27

20)

Question Stimulus :-

(38)



Find out which of the following soil has the least percolation rate / JITd o oo a9 foa Hal G| gAdH
JTHAU R 7

e 100 ml in 30 min / 100 i 30 firFe A
® 200 ml in40 min / 200 et 40 e &
® 400 ml in 20 min / 400 T¥relt 20 forFe &
® 300ml in 30 min / 300 T3et 30 e &

Correct Answer :-100 ml in 30 min / 100 f¥eft 30 fiqe &

21)

Question Stimulus :-

Leaked pipes spurt out fountains of water because /ﬁ"\‘lﬁ arel arsu ¥ Ul F BFaEr dIgR IBEISGI %', NP :
® Liquids exert force / <X d TET?-f g T %
® Liquids exert pressure / XA UETQE old STad %
® Pipes exert pressure / UTSU GId STadl %
® Pipes exert force / UTQU d¢ T %

Correct Answer :-Liquids exert pressure / d¥¢l yerd g9 STad §

22)
Question Stimulus :-

What is "Adam's Apple' / peHir T %
® Rotten apple / IST 31T g
® Adam's voice box / 3TGH BT HS
® Growing voice box of males at puberty / TIRY W EFEﬁ ¥ $o b1 fa@rg
® Apple that was eaten by Eve / a9 forg gﬂ = 9 o

Correct Answer :-Growing voice box of males at puberty / WTARY W W & S BT fabT

23)

Question Stimulus :-

(39)



Answer the questions based on the following graph /= ﬁ't{ T TP F TR W ULl T IR
gl
Income and Expenditure from year 1999 to 2005 /9Y 1999 ¥ 2005 I 3 3R g

{in Rs.000) foo0 &3 #1

160
140 125 —
120 pps— LAl dab

‘ 30 —
100 == =D 8 20

[i]
o
f
i
X4
9]

60 ~ » |

20 ~ —

1ss3 2000 2001 2002 2003 2004 2005

O Income [ Expenditure

Given below are some statements based on the graph, which of the following

statements is true? /IT% & 3MYR TR "E $ HYF T T ¢, 5790 | I AT HY7 Igt &2

®* For the years 2003 to 2005, the savings as a percentage of income are declining /

a9 2003 | 2005 F fIE 3y & Ufe=d & U § g9 § HHI 31T IS

* From 1999 to 2005, the savings show an increasing trend/ 1999 ¥ 2005 9F § god A
T3 BT I 3T T1/T gl

* The savings as a percentage of income are increasing for the years 2003 to 2005 /

Y 2003 | 2005 I 3T P UARd P U § g9d 9¢ a1 gl

e Either more than one of the above is true or none of the above is true /41 A IWA

A TH ¥ 3ifte Ul @ 1 SR A ¥ Bis WY 9t 78 2

Correct Answer :-For the years 2003 to 2005, the savings as a percentage of income

are declining / 9 2003 ¥ 2005 ¥ T Mg P Ufer=d & U H T9d A SHY 3 ET 2

24)
Question Stimulus :-

The safety device which prevents damages to electrical circuits is / gR&T SUDIUT S ﬁg’q_d: uf¥uy ot dPATH
q AT R

® Fuse / ST

(40)



e MCB /THHIE!
e Switch / =ag

* BothA &B/ATYE B!

Correct Answer :-Both A & B /ATd B G4l

25)
Question Stimulus :-

Answer the questions based on the following graph /= ﬁ"‘{ T TP & TR W ULl PT IR

gl
Income and Expenditure from year 1999 to 2005 /a9 1999 | 2005 TF 3T 3R Y

{in Rs.000) foo0 &I #

160 ~
140 425 130

120 +— qpg 110 0 JI0 00—
100 +—20 B \ 2V
g0 | [0 e =
60 :
40 - L

o

K

=
|

1s53 2000 2001 2002 2003 2004 2005

O Income [ Expenditure

The percentage increase in expenditure in a year compared to that in the previous year

was the highest for the year/ﬁﬁﬁmﬁﬁﬁﬁﬁﬁmﬁmﬁmmm
3ffere a2

e 2001
e 2000

e 2002

e None of these /378 ¥ ®Is 8l

Correct Answer :-2000
26)
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Question Stimulus :-

1398 * 1398 =
® 1960004
® 1954400
® 1964000
® 1954404

Correct Answer :-1954404

27)
Question Stimulus :-

The perimeter of a sector of angle 60°, of a circle of radius 10.5 cm is . /ﬁTﬂT 10.5 9T & qd H 60°

DI & TR BT URATY g
e 21cm/21 9
e 22cm /229
« 44/6 cm / 44/6 HH
® 11cm /1194t
Correct Answer :-11cm /11 34T
28)

Question Stimulus :-

From a point Q the length of the tangent to a circle is 24 cm and the distance of Q from the centre is 25 cm. Find the

radius of the circle. / [T ga & &% A 25 IHI. &I gt W Rua fig Q A 39 ga W R=H g5 Tu=i ¥ &t
TS 24 QY. 3 9 99 @t B 3ma #If

° 7cm/7'\a'5n.

* 12cm/129Hl.

® 15cm /15 9HI.

® 24.5cm/24.59HI.

Correct Answer :-7 cm / 7 9H1.

29)
(42)



Question Stimulus :-

Which among the following is used for correcting myopia? / fadd fPamT T Feces A adi a1 &
forg fomam <mam 82

® Convexlens / I9E 9

® Convex mirror / WZ{&UT

® Concave mirror / WE&W
® Concave lens / 3add a=d

Correct Answer :-Concave lens / 3Add o<

30)
Question Stimulus :-

CO is a highly poisonous gas because / CO U TS STgsielt k| % Fife
® It burns the skin /g 9T PI Sl Gell §

® Tt reduces the oxygen carrying capacity of the blood / J& Y& P MTRISH o S Dt &HAT U B Sal

® It combines with water in the body / IR A g oidd > 1Y '\‘Tﬂﬁﬁ Eﬂ' STt %
e It changes the colour of blood / I8 Y& & W $I 9 ¢l @

Correct Answer :-It reduces the oxygen carrying capacity of the blood / I8 I&d B SfTaiToI o o ot
&I HH PR Il §
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